Ordre d’Opérations (A)

Effectuez les opérations dans le bon ordre.

(I x(=44+7)+(=3)) x(4x2+4)

—

\S]

=24+ (=5+24+6)x (=5+6x1)

W

S5+8+9x(64(—5))+2+(—8)

4. 1X(=9)x (=5+(—4)+(—1)+4x3)

o)

(24 (-3)+1)x8x4+5x%x2
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Ordre d’Opérations (A) Answers

Effectuez les opérations dans le bon ordre.

Ix(—44+7)4+(=3)) x (4x2+4)

X
=0

[

2. 24+ (=54+24+6)x (-=5+6x1)
=1

W

. 5_j32+9>< (64+(=5))+2+(-8)

4. 1_>< (1—89) X(=5+(—4)+(-1)+4x3)

524 (=3)+1)x8x4+5%x2
=10
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Ordre d’Opérations (B)

Effectuez les opérations dans le bon ordre.

L 64+6x1X1Xx(=5+5)%x(—6)

2xX6X (T+(=T7)+34+9+(—1)

(=2)x (44 (=8))+(—4) x (=2) x (1+(-1))

S5+ (=4+(=1)x(=1))x (14+9+(-5))

8 X (=545)x (=7) x (=2) x2x(-9)
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Ordre d’Opérations (B) Answers

Effectuez les opérations dans le bon ordre.

L 64+6x1X1Xx(=5+5)%x(—6)
=6

. 2_><1?>< (74+(=7))+3+9+(—1)

. 5_+ (1—04+(—1) X (—1)) x (1+9+(=5))

88X (=545)x (=7) x (=2) x2x(-9)
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Ordre d’Opérations (C)

Effectuez les opérations dans le bon ordre.

L (=8)x2x (1 x(—=6)+6)x2x8

\S]

=1+ (1) x74+8)x3x3+9

3.84(—1)4+94+8+(—9)+(—5)+5

4. (T+(=1)x6)x (8+(=5)+8+(-3))

W

T+R2+1)x(5x14+(=7)x1)
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Ordre d’Opérations (C) Answers

Effectuez les opérations dans le bon ordre.

) X2Xx(1x(—6)4+6)x2x8

H
"

—8
0

2. =14+ ((—1)x74+8)x3x3+9
=17

_|_

—1)+9+8+(-9)+(-5)+5

>
I3

;r(—l) X6)x (84+(—5)+8+(—3))

D

_%1(2%—1) (5x14+(=7)x1)
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Ordre d’Opérations (D)

Effectuez les opérations dans le bon ordre.

L3+ (=7)+(-3)+1x(—4)x(—1)x(=1)

2. 34+ (—8)+3%x3+(-2)+3+(-8)

3. (—8+2) X (—8+9)+5+4+3

4. 94+ (=9)+ (1) x4+1x(—6)+(-2)

5 (=3)x(=1)x(=3+7)4+(=7)x1+4
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Ordre d’Opérations (D) Answers

Effectuez les opérations dans le bon ordre.

3+ (1—17)+(—3)+1 X (—4) x (—=1) x (1)

[

2. 34 (—=8)+3%x3+(—2)+3+(-8)

W
—~

(—842)x (—8+49)+5+4+3
6

4. 9_+ (1—29)+(—1) X4+1x(=6)+(=2)

o)
~~

(=3)x (=) x (=347)+(—=7)x1+4

I
Ne
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Ordre d’Opérations (E)

Effectuez les opérations dans le bon ordre.

L3X(8x(—243)+1x2x(=3))

2. (=14 (=1)) x1x (=8+9) x8+(-2)

3. (—8+8)x (74+6)+(8+(—6)) x 1

4. (—446) x (=3+5) x (4x (=2)+4)

5. (=3)x1x(44+(—4)) x3x(—4+7)
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Ordre d’Opérations (E) Answers

Effectuez les opérations dans le bon ordre.

L3X(8x(—243)+1x2x(=3))

=6

2. (=14 (=1)) x 1 x (=8+9) x8+(-2)

=18

o
N
2 oo

+8) x (74+6)+(8+(—6)) x1

4. (—446) X (=3+5)x (4x (=2)+4)

=16

5. (=3)x1x (44 (—4)) x3x(—4+7)

=0
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Ordre d’Opérations (F)

Effectuez les opérations dans le bon ordre.

1. —2+7+(=1)+4x(9+(=8))+(—6)

2. (=2)x I x(Tx14+1+(=7)46)

3. (5+(=7)+2) x (—=6) x 8 x 2 x (—6)

4. (9% (=1)+(=6)+9+2x(-7)) x 1

52X 1x (=24 (—4)+6)x(=5)x3
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Ordre d’Opérations (F) Answers

Effectuez les opérations dans le bon ordre.

. :22+7+(—1)+4>< (9+(—8))+(—6)

[

2. (=2)x 1 x(Tx14+1+(=7)46)
= 4

3. (_5(—)}—(—7)4—2) X (—6) x 8 X2 x (—6)

5. 2>z)1 X(—=2+(—4)+6)x (—=5)x3
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Ordre d’Opérations (G)

Effectuez les opérations dans le bon ordre.

1. 5% (=2)x (=1)x (—8+8) x (=24 (-8))

2.9+ (—6) X (=5+5) x (—8+1)+4

3.7x1x(84+3)x(94(=9)) x7

4. =14+ (=4) x14+5+1+(=7)+(—1)

o)

(=14+2)x (=1)+(=5) x3+(—4)+1
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Ordre d’Opérations (G) Answers

Effectuez les opérations dans le bon ordre.

5X(=2)x (—=1) x (—8+8)x (—2+(—8))

.7_>E)1><(8+3)><(9+(—9))><7

=l (—4) X 1T4+54+1+(=7)+(—1)

(—1+42) x

—7

—19

(=1)+(=5)x3+(—4)+1
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Ordre d’Opérations (H)

Effectuez les opérations dans le bon ordre.

L 1x(5+5)x((—=2)x4+8+(—1))

2. (—2) x (=5) x (94+(—-9)) x4x3x 1

3. (—343)x4x6x(24+2x(—1))

4. (4+(=6)+1)x1x (6+3+3)

5 -142x(44(-5)+1x(5+9)
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Ordre d’Opérations (H) Answers

Effectuez les opérations dans le bon ordre.

DX (54+5)x ((=2)x4+8+(—1))

=—10

(=2)x(=5)x (94 (—9)) x4 x3x1

(=343)x4x6x(24+2x(-1))

=0

4+ (—6)+1)x1x(6+3+3)

=—12

—142x (44 (=5))+1x(549)

=11
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Ordre d’Opérations (I)

Effectuez les opérations dans le bon ordre.

1. (B3x44+(=8)+(=3)x(=5)+(-6)) x1

2. (=8) x (=1)x (84+(=7))+4+(-3)x1

3.1 x9% (=T+7)x (=7T+(—=1) x (=8))

4. 1X2x(=54+5)x (94 (-7)) x (=2)

5. (T+4+1xT74(—4) x5) x (—4)
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Ordre d’Opérations (I) Answers

Effectuez les opérations dans le bon ordre.

1. (_3 X44(—8)+(—3)x (=5)4+(-6)) x 1

4, 1_>E)2 X (=545)x (94+(=7)) x (=2)

5. (_7é|—4+1><7+(—4)><5)><(—4)
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Ordre d’Opérations (J)

Effectuez les opérations dans le bon ordre.

L (6+(=6)) x (1+74+3)x(9+(-5))

2 (24 (1) x (=8) + 1+ (=5) +3) x (—2)

32X 11X (84+(=8)+(—9))+(—6)+7

4.2x(=5)+(-9)+5+(—1)x(—4)+38

5 =14 (=2)4+(=7+7) x (=1) x9+(—6)
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Ordre d’Opérations (J) Answers

Effectuez les opérations dans le bon ordre.

(_)H_@) X (1+7+3)x (94 (=5))

=
1)

2. (_2+1(8—1) X (=8)+14(=5)+3) x(=2)

3.2 11;< 84+ (—8)+(—9))+(—6)+7
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